3 (Sem-6) PSC 1

2017

POLITICAL SCIENCE
( General )
Paper : 6.1
( Public Administrat‘ion )
Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions as directed :

1x10=10
o epaRRered fArt SR TR fordt
(a) What is civil service?
RS Gl W 2

(b) In laissez-faire State, the functions of
governments were confined to which

activities?
SRR AFS TR IR oIS
i wnfee 2
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(2)
(3)
(c) Who is the author of the book, Essay in
Sociology? (h) What do you mean by accountability?
Essay in Sociology W IJ®¥ITE (AP Rl A & @2

A ?

(i) Write one method of legislative control.

(d) The term ‘bureaucracy’ has been RN frgaea b1 “m&fS forar |

derived from which French word?

Bureaucracy’ (WCAFIed) Bl R () What is the tenure of the Chairman of
! *q o1 =fReR ? UPSC?

@B ERCE WCAH THI IR F 2
() Who, in India, is the Head of the
Department of Audit and Accounts?

SIE ICICRET K e R B A 9 ﬂ?iﬁl
;FI? o Ry b 2. Answer the following questions : 1x10=10
wod e Ted fore
() The word budget was first used in (a) Distinguish between single budget and
England/America/France. plural budget.
( Choose the correct option ) GF A6 WE 9 ACEHI TER A2l
ACEH A AW 2GS /HCA(PTS /IS S |
TR 41 (2R |
( = Rewch afz Bferear ) (h) Mention two advantages of promotion
by seniority principle.
(g9 Who first used the term ‘development evor ffes srmfed @1 ‘iﬁ!ﬂ foran
administration’
@A AN R PR Dl I€EN (c) Mention two functions of civil servants.
Ffe 2 e T o1 ol o |
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(d) What is the difference between 3. Answer any four of the following questions :
education and training? 5x4=20
o % 2ffreR Tere o [0 wopq R B e iRt el e
Wh fa) Describe budget as a tool of socio-

(el aF e'u'e th.e two facets of development economic Bankiarsuate.
administration? o !

e AfRedT e Rowa qcEn

R et 151 et 6 2 o

(), What are the differences between
accountability and responsibility? (b) Write a note on habeas corpus.
TRRES! SF HRgT M6 “A1efF &2 T TR SO B! (GBI T |

— o e

(g) ::Vnte t'wo.functlons of the Public Service () Distinguish between surplus budget
s and deficit budget.

T Ao o1 I o % s T I TS TR N R |

(h) Define Public Administration.

TR S T | (d) How can people exercise control over
N\

administration?

() Mention the period of financial year 2P 7R STt et fa e 7

in India.
Teeq A8 T SR T 740 | (e) Describe bureaucracy as a carrier of
change. .
() What do you mean by Personnel sfigdTa 23 B ScAEed 3969 F41 |
Administration?
R epp e & @2
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4. Answer any four of the following questions :
10x4=40

ok 2rarEd R e oifaeE Tea o

(a) Evaluate the role of civil service in
modern State.

w14 IES SPTHRE CRR SR Jome 391 |

(b) Discuss in detail the various types of
accountability.

TEREeR Rfew e[ Iz HEAma F41 |

(0 What is Lokpal? Briefly discuss the
powers of Lokpal.

R & 7 AR TASPZ TS ST
4

(d) What is RTI? Discuss the importance of
RTI Act in redressal of public
grievances.
oY TAE SRR 7 SRR s
T (RS O TR S W G
EICEATOT 41 |
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(e)
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What is development administration?
Discuss the features of development
administration.

PPt 2P e 2 Rep eppia (afEPTR
A 341 |

What do you mean by training? Discuss
different types of training.

e qfece & qEne Rfew aom afrsa
ey SeEsa 940 |
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